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SECTION A - SHORT ANSWER

Question 1 2 marks
Identify two potential health outcomes of babies born with a low birth weight.

Question 2 (3 marks)
Please refer to the table below for the following questions:

Estimated incidence of camncer im 20177

Males Females

Site twpe Cases Site tywpe Cases
Prostate A1Ee. 665 Breast A17.586
Colorectal S,127 Colorectal F.5SS5S
Melanoma of the skin 8,392 Melanoma of the skin 5,549
Losrss T O Lusrmss 5,340
Head anmnd neck 3.625 Uterus 2,861
Ly rmphorma B.5Ta Ly mphorma 2,658
Leukaemrmia 2,358 Thwyroid 2,329
Bladder 2,267 Owary 1,580
Kidmney 2,256 Pamncreas 1,542
Pamncreas A, 722 Leukaarmia 1517
Liver aA.589 Head and neck 1,330
Stormach A, A Kidmney 1L 256
L nlkcnowsm prirmary site 1, 3A6 nkmowem prirmary site 1,209
Oesophagus 1,151 Cerwix 912
Braim A,109 Stormach 200
rMultiple rmyelorma 1,025 MMultiple myelorma - |
rMyelodysplastic syndromes =l=r Brain -
Ty roidd 2850 Bladder TF2e
Testis 215 My elodysplastisyndromes 593
Mesotheliorma aess Liver sS27
Al cancers combined FT2,169 <Al cancers combined 62,005
Source: AlHVY Australian Cancer Database

Question 2.a 1 mark

Using the data provided, identify which gender has the higher incidence of melanoma of the skin.

Question 2.b 2 marks

Identify a factor and explain how it might account for this difference
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Question 3 4 marks
Compared with those living in major cities, people in combined remote and very remote areas were:

« 1.6 times as likely to be hospitalised for coronary heart disease
« 1.3 times as likely to die from coronary heart disease
(Australia’s Health 2016)

Identify one biological factor and one environmental factor and explain how it could contribute to higher rates of hospitalisation
and mortality from coronary heart disease for people living in remote and very remote areas compared to those living in major
cities.
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